Feb 2, 2012

B pl:=taylor(cos(x),x,6);

p1:=1—% 2+§ Y +0(x°) @)
> p2:=taylor(cos(x),x=Pi/4,6);
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> plot([cos(x),convert(pl,polynom), convert(p2,polynom)],x=-4..4,
color=[red,green,violet], thickness=2);

[ Back to what we were doing.
|'> data:=[[1,2], [2,2], [5,6], [7,9], [8,10]];
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i data = [[1,2],[2,2],[5,6],[7,9], [8,10]] 3
> plot(data,x=0..10,style=point,symbolsize=15);
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:> with(CurveFitting): with(plots):
> Spline(data,x);
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> display(plot(data,x=0..10,style=line,symbolsize=15,color=red),
plot(data,x=0..10,style=point,symbolsize=15,color=blue));
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> ?piecewise
> f:=piecewise(x<2,2, x<3, x, 3-sin(x-3));

2 x <2
f= X x <3 5)
3 —sin(x —3) otherwise

B plot(f,x=0..5);
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> sl:=Spline(data,x,degree=1);
2 x <2
2 4
1 3 + 3 x x <35 ©
S1 =
—i—l—ix x <7
2 2
x+2 otherwise

> display(plot(data,x=0..10,style=line,symbolsize=15,color=red,
thickness=4),
plot(data,x=0..10,style=point,symbolsize=18,color=blue),
plot(sl,x=0..10,color=violet)) ;
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> display(plot(data,x=0..10,style=line,symbolsize=15,color=red,
thickness=4),
plot(data,x=0..10,style=point,symbolsize=18,color=blue),
plot(sl1l,x=0..10,color=violet),
plot(Spline(data,x,degree=2),x=0..10,color=green,thickness=2));
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[> Spline(data,x,degree=2);
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> Spline(data,x,degree=2,endpoints=periodic);




periodic)}, x=0..9,thickness=3);
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otherwise

> plot({Spline(data,x,degree=2), Spline(data,x,degree=2,endpoints=

[> plot([seq(Spline(data,x,degree=i),i=1..10)],x=0..10,thickness=2);
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> display( {plot(data,x=0..10,style=point,symbolsize=20,color=
black),plot([seq(Spline(data,x,degree=i),i=1..10)],x=0..10,
thickness=2) });




> LeastSquares(data,x);
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> PtPlot := plot(data,x=0..10,style=point,symbolsize=20,color=
| black):
> display( PtPlot, plot(LeastSquares(data,x),x=0..10));
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pt:=1[1,4];
ptil];
pt[2];

di :=(m, b, pt) -> m*pt[1]+ b - pt[2];
dl .= (m, b, pt) >mpt, +b —pt,

d1(3,2,[1,4]);

1
d1(1,3,[1,4]):
0
d1(1,3,[1,20]):
-16

dl:=(m, b, pt)->abs(m*pt[1]+ b - pt[2]);
dl := (m, b, pt) —>|mpt1 +b _sz|
d1(1,3,[1,20]);
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